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350, 0002 *4C} 1,400
00 mzSA 1,750 1,780 A30
O1.22232WA 1,750
29 ZDE HADIY HEEX 2ERI
1,75021+1,000 1,750
202 ot 3,600 4,320 A720
RETET] 3,600 7,320 A 720
OEYBDE NTSE ¥ Ul 2304
20,0008 3% +5 #1231 3,600
01 Yerwaa 17,188 16,712 476
CREEECEEEr= 6.388 6.212 76
SECEET-EINETES 6.388
SIEE! 88,0002 x22 x 122 2112
s 5,000 22 5222 122 2,640
-mey) 2,000 %22 5202 128 1,056
aes 130, 0002522 25 520
cosgnEd 15,0008 2 22! 60
12 JlErEaE 10,800 10,500 300

OSHEINE =HEMN 2 (ZSH 8
) *

500& *1,800& 120 EH S 10,800

405 KtoHESHI 1,925 0 1,925

01 A =SSFHSHI 1,925 0 1,925

Osg8s+o EHFH F(SHSs)

385,000 »5CH 1,925
==&l 1,831,973 1,853,495 A21,522
S 300,000
Al 1,531,973
A2 FRU=SFAY 1,010, 103 1,172,945 A162,842
401 AIEHIZSOYI 830,103 982,945 N 152,842
01 Al&HI 825,000 976,865 A 151,865
OL+2 FU=SAY A AIEAHH
15,000,000& 14 15,000
OT7EX ds12l 0t =2 Hbl(L=
150m) 30,000, 000& *14] 30,000
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2A - HE FRI(SIAH) - MEAY - HAS 0f] AboH Ol & o8 Hon=2
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50,000, 0003 »14] 50,000
ooy stde| o222 D4 <] (L=600m)
20,000,000& 14! 20,000
O2& MA12l s2Z&(L=350m)
40,000,000& 14! 40,000
Osaoff &Ael ot & E(L=100m)
40,000, 0003 »14] 40,000
OHe FeHel otsetd gt=5 &XI(L=10
Om) 40,000, 0003 *14] 40,000
Otis 41l otser & & (L=250m)
40,000,000 *14] 40,000
OT7EX 4332l sEME0ts 2 FHI(L
=200m) 40,000,000& 14! 40,000
O2& &Atel =2 &XI(L=250m)
30,000, 000& *14] 30,000
OdY gael o222 IMI](L=600m)
20,000, 000& *14] 20,000
O&JI talel orserz I¥<I1(L=1,500m
) 40,000, 0003 *14] 40,000
Osolil s4tel orser2 S E(L=100m)
40,000,000& * 14| 40,000
OlE 212l s2 Z&(L=300m)
40,000,000& =14 40,000
O2& el ot FHl(L=290m)
40,000,000 =14l 40,000
O eimze| F2Y o WONH (L=6m)
30,000,000& » 14| 30,000
O84rd EX FHIZAHL=200m)
200,000,000& 14 200,000
OFEL &2 DSdYE ZFIANL])
(L=100m) 40,000,000 =14l 40,000
O&8=9tZ0Itl 8X & 2=2=(POOL)
10,000, 0003 * 14 10,000
OARZ FUHYAL R XIE=(POOL)
20,000,000& » 14| 20,000
03 AIZ=0HbI 5,103 6,080 A977
Oarl =AY AIZ R0
810,000, 0002 *0.63/100 5,103
402 2I2t=E0ld 180,000 190,000 210,000
01 BIZtA=E=x 180,000 190,000 210,000

60,000,000 *14] 60,000
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Crol: ol s 2 oL
N Z3 . CA(ZAH) - MPAY - BES Aol a4 Hlw &2
o= T ° . [= Bl e =5 O:H{ﬂ,% Lsa
O&Jl AHJ2e Ot d=x
60,000,000& 14 60,000
O&J| ghatzel Oi=al2 s
20,000,000 * 14 20,000
OFEX =H12 Ot23& g
10,000,000 * 14 10,000
Ootssl& 22(PO0L) 30,000,000& * 14! 30,000
FU=ACZAL (FUSASZA)(ER) 671,870 530,550 141,320
& 300,000
Al 371,870
401 AUl 204 671,870 530,550 141,320
= 300,000
Al 371,870
01 Al&HI 600,000 526,950 73,050
O2AE QU A &1 Jt& S AHL=90m)
600,000,000 * 14 600,000
= 300,000
Al 300,000
02 &2l 68,090 0 68,090
O2E QA 841 JIES A M2l
1,100,000,000& *6.19/100 68,090
03 Al&Z=0HdI 3,780 3,600 180
O2E Q0UAF E51 JIE 3 A AIE&SRUHHI
600,000,000& *0.63/100 3,780
22 FEIEHAAAHI 150,000 150,000 0
401 A &HIZ20YI 150,000 150,000 0
01 A&l 150,000 150,000 0
OALnE =QIMETHAIAHYI
150,000, 0003 * 14! 150,000
“EII= & olat2e 44,510 44,790 A 280
&8 & oaEdRd 44,510 44,790 A280
201 eI 27,910 27,790 120
01 At 2eld] 27,574 27,454 120
O1.ger+2H) 18,438
-Jl2ES LEt==2H| 2,798,000 2,798
-0l atzte] dBt==ZH| 10,000, 000& 10,000
ERUSED W AMASEIMT S0
10,000& *50F *2& *33] 3,000




SN HRTXE D
o NYBTAY YSH(LVTIHY/ LB T)
ol PFIIE L o A2 (S5l & 2

SN HB SR (BIH) - A - B S 0l &b S D=2
-EEALRHEAN R0 3,0008! x40 123 1,440
—HMARE DYU(EU)
300,0002! *2CH *23 1,200
O5. =&l 9,136
-FRYPFA ZA(POOL) 6,616,000& 6,616
O MBI AR OFRI2R X A
7,000& «3H «30 *43] 2,520
02 ZZ2YH| 336 336 0
O1. 223 LHA 336
-JlUzE 2203 336,000 336
202 O4dl 13,100 14,000 A900
01 =UWHbl 13,100 14,000 A900
OFYRFZ0{dl(PO0L) 9,500,000 9,500
OAIR & FQD X0
60,0003 »3H x4 x53] 3,600
405 XtatE SH| 3,500 3,000 500
01 T ESHSHI 3,500 3,000 500
ORFIIE L a2 ES DA
2,000, 0002 = 1CH 2,000
O lAEeE TRy ui
1,500,000 = 1CH 1,500
THEE Y REUY 84 35,564 35,568 4
THER L RSUUY B 35,564 35,568 A4
201 eI 30,284 30,288 A4
01 At 2eld] 28,556 28,020 536
O1. get==2t| 22,020
2222 JIE=E| 14,000,000& 14,000
20098 ST SR WM RO
2,500,000 2,500
SHEBA MRS 5,520
TEYA 14,0003 155+ 122 2,520
BN PN 10,000 252 «12& 3,000
O3.2g8=% 200

20008 cHASE S wsE A=
200,000& =1 200

O5. =&l 4,536




SN SRS D
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[==) =2 [s= ) =
o PHED U RSANY S4 (er9: @8
= X xH cCtel (s = A HA X2 OH I‘—-IL'E—“:— =2}
A -3 H2A(SH) - HEAMY - BES Ol &+ 9K Ol AF o8 Blws2
— T

ju }
7,0002 *3% *92 +12% 2,268
“REY RS FA22X IA
7,0002 +3% %92 + 122 2,268
06. 2 %2 1,800
RSB Q24N HUIYME
150, 000! *3CH *43| 1,800
02 =Tzl 1,728 2,268 A540
O1.ZZQ3LHA 1,728
ATV AIHE(7E, S E)
6,0002 *247} A *122 1,728
202 01l 5,280 5,280 0
01 =(foid 5,280 5,280 0
O7PZER Y 22| FX0Y|
60,0002 *3% *42 43| 2,880
ORSARAR ZXOY|
20,0002 +22§ ¥52 123} 2,400
ol T el 283,343 344,239 60,896
et 5N Y 283,343 344,239 60,896
201 gr2g| 266,422 245,483 20,939
01 AF=aelt] 58,910 59,910 21,000
O1. 2Bt 8| 17,800
o ENYR JIEr | 6,000, 0002 6,000
“HXUE 01844 20,0008 %2501 5,000
SHUAYEY L2
2,000, 0002 14! 2,000
SHIIQIE PR (SR 250,000% 128 3,000
SHSBRIANAY SXBAR
50,0002 *12% 1,800
O4. 12| 910
~2EIIA 222 130,00024 *7% 910
05. 32| 4,200
SN EHYLET OFRA2DX A
7,00020+6 % %102« 102 4,200
O6.4x8 36,000
SHASX AR 36,000,002 *14} 36,000
02 ZZ2Y| 207,512 185,573 21,939




SN

(=)
A NLAFAY 2o (LI IHT/UUHT)
el 28X R (e &<
Rz . Ctol (5 AL . HA 2 A} OH &EIE -

O1.3E3LHA 64,091
-HIIe=s 3,600,000 *x12& 43,200
—AGtE=EAMER 350,000 128 4,200
-HEHAS U= 13,519

=1 810,000 »8CH 6,480
=i 663,000 »3CH 1,989
= 650, 000& *5CH 3,250
TS 600,000 »3CH 1,800
-SINERE= 2,780
ANE= 400,000 23] 800

2 E X 55,0003 = 18CH »23] 1,980
-fNSREFES 350&+2,727m *0.82%50% 392

O2.¢9 24l 49,155
-2 () 1,185&+0.9 £ *95 «BA| 2H+6TH 4,864
=3I 1,1858 %20 £ x95&! 18K 40,527
-2 4,900& «120 2 8 Al 2+*0 . 4keal»2CH 3,764

O3. A2 &HI: Xl 13,658
-4= sA2el 3,2483 2,727 ™ 8,858
-EAb HIIAE K22

800,000& »3=*22 4,800
O4. Xt et 80,608
=N 80,608
SE(4E) 4,501,000 *1CH 4,501
SE8(58) 4,621,000 «1CH 4,621
SE(HE) 4,095,000 6CH 24,570
SE(AE) 2,558,000 »2CH 5,116
SE(SE) 8,767,000 »1CH 8,767
32(A8) 3,241,000 44 12,964
3=(5¢) 4,580,000 «1CH 4,580
E=xt 5,163,000 «3CH 15,489
202 Oddl 5,760 5,760 0
01 2UWabI 5,760 5,760 0
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S SRR E N

T NUHEE U (AUBBUE /YN UT)

el 28X R (e &<
SN HB SR (BIH) - A - B S 0l &b S D=2

|
3L %43 2,160
OHS - ZHYSR w0

60,0001 *22 x5 *63] 3,600
206 T2l 300 300 0
01 Mzl 300 300 0
OB BSAYEY 428 729
300,0002 *14! 300
01 APBAZ 4,314 4,19 118
09 2BA2LRALAZ 3,194 3,106 88
ozA2=2ed 3,194
123 88,0002+ 15 » 12 1,056
~E Al 5,000 * 1% *222U * 12 1,320
-nE| 2,0008 %1% *222 x 12 528
S 130,000 * 12«25 260
—coslgsE 15,0002 * 12§ %2 30
10 BAIAHIBAS 1,120 1,090 30

OZUW2&IIAL It EM S U=l ot
60,0003 x7H 2 840

7,000& 40 280

405 XtobESHI 6,547 53,500 A46,953

01 A =SSFHSHI 6,547 53,500 A46,953
OL=HIZ wH 5,500
-IHHIS (0ADHF) 200,000& 54 1,000
-AIRE By 200,000& 154 3,000
-AIRE 2kt 100, 000& 154 1,500
Osdd 237 7Y 1,047,000 = 1CH 1,047

HE 2L HHI(SARXF D) (IIEH/IIE 362,958 344,593 18,365

QlA2AHI(ER A X E D) 220,853 205,688 15,165

FANIHE2AH| 180,853 165,688 15,165

101 elAH] 144,003 131,328 12,765

09 RIAHAZZHE S 144,093 131,328 12,765
Ofsaze|RY 17,827
-Jlz2s 29,0103 » 12300 8,703
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AN R XS E D
X XH: SHXE
S = (=]

HY2IZHI (SRR A

el olHAIY|(Y R XIHE )

SA-E O (3H) - MBAY - B2 0l & 2 e
G 725,250 * 13 *300% 2,176
-HES0HdI 725,2503 1% *120% 871
- S2 | 30,000 x1H =122 360
-JtH 2 1| 50,000& x 1 12 600
-tEg 50,000& *1H x12& 600
-HAXt=g 29,0103 x1H »15Y 436
-=F=¢ 29,010& » 1 52 1,509
-AZ2tRI 2R 5,440 x1H x22 A| 2+ x 12 1,437
- FZ A 80,000& x1H x12& 960
-2t 3 29,0103 »1H 12 = 12& «50% 175
OF A28 17,976
-JlEs 29,0102 »1H 3002 8,703
203 725,2503 1% *300% 2,176
-HEFOtYI 725,250 * 13 *120% 871
-WESE2 2l 30,000& x1H 12 360
-JtHE = I 50,0003 x1H = 12& 600
A= 60,000& x1H 12 720
BRGNS 29,0103 x1H 16 465
-F=FY 29,0103 x1H »52 1,509
“AZ2HR 2R E 5,440 3 x 18 x22A| 2+ x 128 1,437
-~ Z A 80,0003 x1H =12 960
2583 29,010 »1H 12« 122 «50% 175
OstZ¥AFARY 21,950
AR== 33,0303 1 +300! 9,909
G 825,750 * 13 *300% 2,478
-FESOtHdI 825, 7503 *1H x120% 991
- S2 | 30,0003 x1H =122 360
-JtH 2 1| 50,000& x1H 12 600
-tEY 60,0003 x1H =122 720
-AXt=E 33,0303 x 1 24 793
-=F=¢ 33,030& * 1 52 1,718
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A 2R HA
Mz HYESHHH(LRA AR D) (IOIEH/IIE
Sl OIE Y| (R XA ) (&2 &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
-A2tRAZ R 6,200 x1H*22 A 2% 12& 1,637
-J M ZAH| 80,0003 x1H *x12& 960
-2EIHA2 33,0303 * 1 *9! « 12& x50% 1,784
ORJIHAIZEXNEr J|ARE=2 86,340
-£&3 10,000, 000& x5H 50,000
SJ|ZAEES(Z20HZ, DE - AHHEE)
534,409,000& *6.8% 36,340
203 ERF&XH| 36,760 34,360 2,400
01 JI22g9YERF=&| 26,400 24,000 2,400
O 26,400,000 26,400
02 HIIIMARF=AH| 6,160 6,160 0
OF& (¥ 172Y) 6,160
-1~100 40,000& x100H 4,000
-101~1724 30,000& x72H 2,160
04 2ENSIELERFAHI 4,200 4,200 0
ORNSYYPF=AH|(H3:20H)
350,000& x12& 4,200
2t8 ol 2| 40,000 40,000 0
307 QIZtol A 40,000 40,000 0
07 H32X323 40,000 40,000 0
OMHEEXZS YL AMLXR2B 40,000,000& 40,000
=AY (S PRXI S E D) 142, 105 138,905 3,200
EMdS9HI 81,625 78,425 3,200
201 LB 77,625 78,425 A 800
01 ArR2t2|tl 77,145 77,945 A 800
O1.Yb8t=2H]| 9,510
-EA2Y Yet2H| 4,530,000& 4,530
-2EANE2YE JAAREH] 4,980,000& 4,980
0O3.249x% 61,400
-2 - =AY 61,400
° A 40,000& »4H «110 17,600
C = 40,0003 x3H *365 43,800
O5. 2| 6,235
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A BRI E D
M HY2SIHI(SRAUXHZ D) (IIEH/IIE)

o J2dul (4R AR ) (&2 &2
SN (B) - MBEAY - B2 0f Ao Soe HRZ2

-EAE2YE S| 6,235,000 6,235

02 2222t 480 480 0
O1. 22222 A 480
-2EN2YE 5523 480,000& 480

405 KHaHE S H] 4,000 0 4,000

01 AAMLESEFSHI 4,000 0 4,000
OL=E MXEAD| WA 4,000,000 *1CH 4,000

A2 =T 0fH| 60,480 60,480 0

202 O4Hl 60,480 60,480 0

01 =2Woib] 60,480 60,480 0
OFIRFRNYI 20,000& x28H 9« 12& 60,480
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OURFAANE SHEZ
749,000 1 CH 749
= 375
< 112
Al 262
OJIAS(HELH) 750,000 »2CH 1,500
= 750
< 225
Al 525
401 AIEHIZL 20| 142,199 244,320 A102,121
= 99,219
L= 12,897
Al 30,083
01 Al&HI 141,182 242,678 A 101,496
OALAUSRHES 3 LH 15,497,000 14! 15,497
= 14,528
= 291
Al 678
OALAUSHHS LIoiS I
42,200,000& * 14! 42,200
= 29,753
= 3,734
Al 8,713
OAURMEE Llols &5
52,701,000& * 14! 52,701
= 39,425
= 4,288
Al 8,988
OXgd gH((sste) 3,690,000 *14] 3,690
= 1,916
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Al 1,241
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= 629
= 177
Al 412
OA2USRItXIoEYE ¢H 24,047,000 * 14 24,047
= 12,023
= 3,608
Al 8,416
03 AIZ=0HYI 1,017 1,642 AB25
OutE U MAIE A2 =Bl
141,182,000& *0.72/100 1,017
QIZEX 20| M 69,351 150,517 AB81,166
= 51,518
= 5,350
Al 12,483
QI2HCH S AFS B 69,351 150,517 A81,166
O2USTHES MIZ2AT LISFA
29,373,000 * 14| 29,373
= 27,217
& 647
Al 1,509
SUSTEl 2 FAH(ZAE)
39,978,000& * 14 39,978
= 24,301
& 4,703
Al 10,974
s=235AMd 2,000 0 2,000
o201 & 2,000 0 2,000
g2 ZH| 2,000 0 2,000
SMOIMES 42 U AAXR|
200,000& =100t 2l 2,000
AZSESAY 1,750 500 1,250
& 525
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Al 525
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Otds=rZHH 29 750,000 * 14 750
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OrM S =TloH oAl L 7,260 0 7,260
= 3,630
& 1,090
Al 2,540
402 QIZ2FX =0 7,260 0 7,260
= 3,630
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Al 2,540
01 BIZEXI=22 X 7,260 0 7,260
OOtMSZ TalioEAE &R
7,260,000 * 14| 7,260
= 3,630
& 1,090
Al 2,540
AFE THOH Ol & 67,780 104,052 N36,272
101 14| 30,256 29,449 807
10 JIZtHZ2Z2NASEs 30,256 29,449 807
OMBTBNABT 2227 ose
51,380 x 109 72 *33| 10,790
OA&ALEHRIE Xl =2 A 12
51,3803 * 10«8 x23] 8,221
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AT S2ERIE YR 3,500
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T 3,700 3,700 0
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10,000, 0002 *14! 10,000
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30,000,002 *1.08/ 100 304
A A AZ L0 13,959 0 3,959
2 8,375
= 1,675
Al 3,909
101 oIty 13,859 0 13,859
2 8,375
= 1,675
Al 3,809
10 JAHZEZNSES 13,859 0 3,859
O£LEAE 212 12,126, 0002 *14] 12,126
2 8,375
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SN GRALDSD
M CRAMS 2o (+LUYRE/ER)
o9l SRAMZ2 X2

_ _ _ Muo
SN -3H - S2A(2AH) - NRAY - BE= Off & 2K Ofl At ot Blusz
dPALDED 11,042,390 8,901,893 2,140,497
2 681,281
= 843,826
Al 9,517,283
SRALE BA(+SLDE/E2) 8,633,796 7,300,538 1,333,258
< 805,000
Al 7,828,796
S2ALE sHze 2,619,830 2,083,344 536,486
S2ALE sz 2,619,830 2,083,344 536,486
101 o124 25,584 15,831 9,753
10 JIMH2ENSE+ 25,584 15,831 9,753
OEZDSTXA 2R
33,5008 %224 22 +20H £ 2,680
O4 28 JI22Y3 2,680,000 *9.45% 254
O=22YEE2 HEa(=ouXel &
£) 22,650
-0l 200,000 * 152 +7 2 21,000
-2E @ 202 110,000% 152 1,650
201 Ypr2 o] 590, 164 546,603 43,561
01 Ar22elt] 31,300 26,494 4,806
Ol. e8| 13,975
“CAREIE L BEITYL |G|
5,000,000 5,000
-DEI e WS (DRSS 019 M
) 7,700 %103 * 122 924
“HOIZ 44 E(S2E4E Y LY =) 6,000
HOtAZE 3,000,000 *14! 3,000
Ha32lE 3,000,000 *14! 3,000
-SESANE SHEN B 2,051
" =X (A0) 12,0002« 102 120
= AFS X (A3) 20,0002 * 102 & 200
= AFS X (A4) 18,7002 * 158 A 281
ERELIENAE 250,000%! *4} 1,000
226 293 150,000 *32H 450
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HPAHSDED
CZANEE AR(2BLWS/E2)
CRAEE Xz

_ _ _ Muo
SA-BH.C(BH) - HRAY - B Ofl &t o il i~ o Rz
O5. 22| 8,225
—Bsae 34 7,000% +20% 282 3,920
SCHAGE ORIZEX 24
7,002 +5 % %92 + 122 3,780
DRI OFASHEDRR SA
7,002 +3% *52 #53] 505
06.2 %2 9,100
RAZEEZ=RTY AXE
350,000 *2CH * 108! 7,000
SC ARSI UMD
350,000 *2CH 33| 2,100
02 BT 558,864 520, 109 38,755
O1.ZZ23LHA 548, 080
b2 (2eHS ®IIe3
45,000, 0002 * 122 540,000
~EER4 NOE PHSMY IR
43,0002 %504 *12% 2,560
~CEXEE s 2L 4,000
=PlE3: 1,75021%2,00021 3,500
‘s 25024 *2,00021 500
SHEMUR SIIRSE $42
1,000 %5005 500
%2 U GHH =42 4,000%1 25021 1,000
O3. A& ZHIR b 10,784
Jl2S 24X |X2l 600,008 *23] 1,200
-AEHc st 35 S 8,564
kR 1,50021%6 £ *100A] 2H+3% 2,862
= 1,47021%6 £ *100AI 2+ 882
AP 350112 £ *50A] 2¢ 210
" LPGIFA 1,800% «7kg*50AI 2t 630
" a2l 500, 000! #4% 23| 4,000
- OISAESE) 22l L HAH
500,000 *23 1,000
202 OfHl 5,400 5,400 0
01 =Uhord 5,400 5,400 0
OLAHISHE =201l
60,0002 x2% *52 +53] 3,000
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SN ERHLSDED
MM TR2AE2 22 (2L NE/E2)

el T2AIEE A2 (298
I:I/\_I X xH C|—O|(§Ij;”) }\.“bl I,O-I HAXZ A} OH I|_‘|LI;=|_|‘:_ HleDF
OBYEX & & 245 AZWS &40
] 60,0003 x2H x22 x102] 2,400
206 M=l 69,000 60,220 8,780
01 =4l 69,000 60,220 8,780
O==23d HJE+ 7 2,000,000& 2,000
OAlUg R Jtz2(Eeh)s E==X +¢
22,000,000& 22,000
OEZANEE BN 7L 36,000,000 36,000
Ox=zZ2d ¢ MEXY 21 7
9,000,000 9,000
207 SO 217,700 29,500 188,200
01 ¢844 200,000 0 200,000
Oger2bel L™ AE A
100,000, 000& * 14 100,000
ONSYTBM Z20Y LN gt
80,000,000& 14! 80,000
O2U W& 188 894l
20,000, 000& * 14 20,000
02 HAHHEH] 17,700 29,500 A 11,800
O==2 A2 =GIS =Al2cld]
5,900,000 *3km 17,700
301 utEas 67,840 65,560 2,280
09 SUZRRALZH= 67,480 65,560 1,920
OZA2Le (HEsx L ANHAHL) 67,480
-Jles 88,0002 x20& 122 21,120
-S4l 5,000& 20 »222 123 26,400
-1 Sl 2,000 =20 »22 128 10,560
-1 =Hl 8,800
=t 130,000 20E x2S 5,200
T gets 130,000& 20 2,600
T2X 5,000& x20H 100
t 3t 35,0003 »20H 700
SUKIIEREES 10,000& 20 200
-CHRg=EE 15,0003 20H «2 600
10 BAIAHIENS 360 0 360
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HPAHSDED
CZANEE AR(2BLWS/E2)
CRAEE Xz

_ _ _ Muo
SA B HRA(SH) - MRAY - B O & o4 i HIREY
SEP N EEE eI GEES
?, &83) 30,0003 x12% 360
401 Al&HIZ =204 1,630,842 1,333,780 297,062
01 Al&HI 1,607,000 1,330,000 277,000
OBUEZ A2 |4
550,000,000& * 14! 550,000
OJt2s E= 50,000,000& * 14! 50,000
OF&g MIIA4 e 50,000,000 *14] 50,000
Od&ldatn B 500,000,000& » 14! 500,000
OS2E24HY ABaIAY
30,000,000& » 14! 30,000
O7H=2E ZEIM=2I|(L=600m,8=11m)
60,000,000& * 14! 60,000
OUls SAHNHCR(F1-17) ML)
(L=980m, B=8m) 47,000,000% *14] 47,000
Ol 2lz202sd ETXHAMNLI](L=980m,B
=6m) 50,000,000 *14] 50,000
O =5301s6 ZHIAMNL2I((L=1300m,
B=1.5m) 60,000,000& 14! 60,000
OIS TAIHSE2(£1-18) AT AXI(
L=200m, B=3m) 30,000,000& 14! 30,000
O35 TAMHEZZ(L2-12) o1& AXI(
L=500m,B=1.5m) 40,000,000& * 14! 40,000
OEHESET ¢ C2EN U AN 2
AH(L=620m, B=10.5m) 140,000, 000& *14] 140,000
02 Zeltl 20,000 0 20,000
Odlsdt B 20,000,000& * 14! 20,000
03 A& =0 3,842 3,780 62
OZ2ALE ST AlZ20Y
1,067,000,000& *0.36/100 3,842
402 QIEXE01M 10,000 0 10,000
01 QtR=Ex 10,000 0 10,000
ORS2H4 Y JIZBUH CXE WA
2X3 5,000, 0002 *4JH 2~ %50/ 100 10,000
405 KHeHE SHI 3,300 26,450 N23,150
01 AL SSFHSHI 3,300 26,450 A23,150
OumHEH=s 2HI| 2¢ 500, 000& »2CH 1,000
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SN GRALDSD
M CRAMS 2o (+LUYRE/ER)

ol SRAES SR CLRE
_ _ HE T
SA-BH.C(BH) - HRAY - B 0ff &+ o4 il i~ o Hnz2
SEPIFEIEEFIET 300, 0002 * 141 300
O S=al01(HOIEY) 7Y
2,000,00024*1CH 2,000
SADIBAIE RS 6,013,966 5,217, 194 796,772
= 805,000
Al 5,208,966
SAHECRHA 4,125,743 3,380,070 745,673
401 AlEHI L2 4,125,743 3,380,070 745,673
01 A&H] 4,115,510 3,308, 160 807,350
OFEX RET2 TAHNEC2(F3-73)M
& (L=200m,B=12n) 105,110
—& A& 100,000,0002! 5. 11/100 5,110
-AlEHI 100,000, 00024141 100,000
Otis MU SAHET2(£2-7) & (L=70
m,B=8n) 208, 160
~ &L A& | 200,000, 0002 4.08/ 100 8,160
-Al & HI 200,000, 0002 * 14! 200,000
OHYS TAHTE(21-4)IH4 (L=68n.8
=10m) 156,120
~ &L A& | 150,000, 0002 *4.08% 6,120
-Al & HI 150,000, 0002 * 14! 150,000
OLE TAHEE2(A1-2)H4 (L=100m,
B=8m) 156,120
~ &L A& 150,000, 0002 +4.08/ 100 6,120
-Al & Hl 150,000, 0002 * 14! 150,000
O F TAINET2(A2-14) & (L=4
On, B=8m) 150,000, 0002 * 14! 150,000
028 8 TAHHT2(A2-8)HE (L=70
m,B=8n) 200,000, 0002 * 14! 200,000
OQSE CTAHHCTRZ(A1-4)HE LA
200,000,000% 14! 200,000
ORF B¢ TAHNHT2(L2-34) & (L=7
On, B=8m) 200,000,0002 14! 200,000

O2d 84 TAAHEZZ2(22-61)HE(L=1
50m, B=8m) 150,000, 000& * 14! 150,000

Jon

sl =7 SAHEE=Z(22-15)M & (L=7
Om,B=8m) 200,000,000& 14! 200,000

Jon
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SN ERHLSDED
MM TR2AE2 22 (2L NE/E2)

CHR|: TAID|HIAIE = (92
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES A oH @;w Hl =2
OA 24 TAIHEZ2(A2-73) & (L=9
Om, B=8m) 150,000, 0002 *1A! 150,000
Osdl U™ ZAIHBEZZ(A2-40)IH 4 (L=5
Om,B=8m) 120,000,000 1 Al 120,000
O0lE s TAHEZ2(A1-1)IH4A (L=390m,
B=12m) 200,000, 0002 x4l 200,000
O¢Y S22 TAHEEZ2(A1-7) M4 (L=40
Om,B=10m) 200,000, 0002 x4l 200,000
O¢d Q& TAIHEZZ2(A1-5)IH4 (L=80
m,B=10m) 400,000, 000! * 1Al 400,000
OQA 824 TAIHEZR(A2-65) A (L=1
40m,B=8m) 150,000, 000 x1A! 150,000
O2E 1A ZAHEZ2(A3-5)HA (L=23
5m,B=6m) 200,000,000 x4l 200,000
Ol MW SAHEZ2(AM1-1)HA (L=50
m,B=10m) 60,000,000 * 1Al 60,000
OHY S22 ZTAHEEZ2(A3-14)IH& (L=5
Om,B=6m) 150,000,000 * 14! 150,000
O2E A ZAHEZ2(A2-11)IH& (L=5
40m,B=8m) 150,000,000 * 14! 150,000
OHYUS TAHEZ2(A1-8) M4 (L=150m,
B=10m) 100,000,000 *1A! 100,000
O2E 24 T AHEZ2(A2-80)IH4 (L=9
5m,B=8m) 160,000,000 * 1A 160,000
Oz MW SAIHEEZ2(F2-89) 14 (L=1
50m,B=15m) 200,000, 0002 * 14! 200,000
OAE A TAHEZZ2(A2-1)HA (L=15
5m,B=8m) 150,000, 0002 * 1A! 150,000
03 Al&=204H] 10,233 71,910 AB1,677
OZAIHEE2IHAE ALY Al 201
3,790,000,00024%0.27/100 10,233
CAESMA(EX) 712,130 305,660 406,470
[~ 350,000
Al 362,130
401 AlSHIL20HY] 712,130 305,660 406,470
[= 350,000
Al 362, 130
01 Al&H] 707,720 300,000 407,720
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FA ERAENEN
HH: TZALEE 22 (+SXWE/ER)

CHol: CAIDIBFAlE = (chel:ziel)
o 1 o o o M -
S HH O (3H) - NBAY - B2 Of) &F o8 e HRE2

Oz7Ex2e| TAAHNEZZ(A1-2)HE(L=10

Om,B=10m) 308, 160
—-& Al E A I 200,000,000& *4.08/100 8,160
-A &l 300,000,000 14! 300,000
5= 150,000
Al 150,000
O=38 ZAHEZZ(22-12) 1 & (L=250m
,B=8m) 99,560
—& Al Z AHld| 400,000,000 *3.39/100 13,560
-E X0 Yl 86,000,000& 14 86,000
S 50,000
Al 36,000
O0ls SAIHEEZ(A2-16) M & (L=50m,B=
8m) 300,000,000& 14! 300,000
< 150,000
Al 150,000
03 AIZ=20ibI 4,410 5,660 21,250
OZANESAY A=Y
700,000,000 %0.63/100 4,410
s g4~-B2 TAHECZ(E3-2) HE(EX) 560,585 213,100 347,485
= 280,000
Al 280,585
401 AIEHIZ =0 560,585 213,100 347,485
= 280,000
Al 280,585
01 Al&HI 557,176 208, 160 349,016
ous g4~32 SAHEEZZ(E3-2)M
A (L=660m,B=12m 557,176
—& A2 AH| 541,000,000& *2.99/100 16,176
-Al &bl 541,000,000& %14 541,000
& 280,000
Al 261,000
03 AIZ=20HbI 3,409 4,940 1,531
ous g4~342 SAHEEZZ(E3-2)M
2 AE20 541,000,000 x0.63/100 3,409
NASHUEZIE 263,030 278,944 A 15,914
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grddusu
e (=35LNE/E2)
SADIBAIE =

[
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ZAE=S

_ _ _ Muo
SA-BH.C(BH) - HRAY - B 0ff &+ o4 il i~ o Rz
401 ASHILLHH 263,030 278,944 ~15,914
01 A& 261,230 270,000 A8,770
Oli% 2152045 T2 T & (L=1,500m,8=3
m) 156,120
& A& H b 150,000, 00021 408/ 100 6,120
NEL 150,000,00021 *14] 150,000
OUR12 SHEZR ST U TS &
% (L=30m) 105,110
~& A& H b 100,000, 00021 +5. 11% 5,110
ML 100,000,0002! *14] 100,000
03 Al&=H| 1,800 8,944 AT, 144
ONSATZHEAY AL S
250,000,000 +0.72/ 100 1,800
ol QSN TR & EE(DX) 201,440 419,940 £218,500
= 100,000
Al 101,440
401 ANSHLLHY 201,440 419,940 ~218,500
= 100,000
Al 101,440
01 A& 200,000 413,560 £213,560
OY ALH(HT101) T2 SHELE(L=150
m,B=8m 200,000,0002! *14] 200,000
= 100,000
Al 100,000
03 Al&=Hl 1,440 6,380 £4,940
OO0 QM T2 HIE ALY
200,000,000 +0.72/ 100 1,440
ZOLAT2AY (NAS AT ZAY) (BF) 151,038 213,100 162,062
= 75,000
Al 76,08
401 ANSHILLHH 151,038 213,100 162,062
= 75,000
Al 76,08
L 150,000 208, 160 A58, 160
OSol =& (21£201) S22 T H(L=150n
8=6.5m) 150,000
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CHel: TADIBAIE RS (B9l ®2)
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ol AF o8 BlusZ
&AL H 144, 119,0008 *4.08/ 100 5,881
L] 144, 119,00084 144,119
= 75,000
Al 69,119
03 AlZS] 1,038 4,940 A3,902
OStH 2ad T2HT ALR0HY
144, 19,0008 +0.72/100 1,038
THCHTHOH Ol 2 (BBE ML OHE /T T - Bl e)) 1,995,217 1,258,227 736,990
=2 681,281
= 2,156
Al 1,311,780
MEAHRHA 1,923,840 1,175,898 747,942
=2 680,000
Al 1,243,840
4 5HE F | 537,766 149,941 387,825
201 Y] 1,900 4,485 ~2,585
01 AbR2tel| 1,000 1,150 A 150
O1.2er+gH| 1,000
~ASHE YR DIE 2| 1,000,000 1,000
02 2| 900 3,335 ~2,435
O1.2ZRILMAl 900
~AGIENEBR DANLS RERS 900
TEEH 25021 *1,50021 375
"So|eH 17502 %3001 525
202 OiHl 2,700 2,700 0
01 =Uoit] 2,700 2,700 0
OM-t2el H2DE FAOL)
60,0002 +3% *32! #53] 2,700
401 Al&HI LY 533, 166 136,260 396,906
01 A&l 530,000 124,896 405, 104
OABHE FUIBA AALN S
10,000, 000! * 14} 10,000
OB £5H& AIZS RXI24(POOL)
30,000,0002 * 12! 30,000
OREZS A4FA Hul(L=200m) 100,000
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BB THTHHOI S (SDENLOE /T LT - 29l

ol Aol XA (649 & 2)
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
—-&l Al E Y| 95, 138,000& *5.11/100 4,862
-Al 2 H| 95,138,000& » 14! 95,138
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